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1,307,186

= W

301 YetE A D 13,071,861 0 13,071,861
10,457,489
,307,186
1,307,186

= W

01 MI28E 6= 13,071,861 0 13,071,861
B2 4A=S0 13,071,861

10,457,489
,307,186
1,307,186

= W

F=HS0 3,027,486 2,959,219 68,267

2,421,988
302,749
302,749

= MW

301 2ELE A= 3,027,486 0 3,027,486
2,421,988
302,749
302,749

= 0N

= 3,027,486 0 3,027,486
gL =H20 2,757,486
2,205,988

275,749
275,749

O)= b= RS P 270,000
216,000
27,000
27,000
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M FOMEXEAMHA RZ
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(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 744,200 0 744,200
= 595,360
& 74,420
Al 74,420
01 Al E& A 462 744 200 0 744 200
OPE F=PS et PUME=S=10: 744,200
= 595,360
= 74,420
Al 74,420
HAMEMZ2 123,690 85,484 38,206
= 98,952
o=} 12,369
Al 12,369
301 et A= 123,690 0 123,690
= 98,952
= 12,369
Al 12,369
01 Al E& A 253 123,690 0 123,690
OJI=Meat8 &2 X &SN 123,690
= 98,952
= 12,369
Al 12,369
AUAM/AHE 0N 50,321 32,726 17,595
= 40,257
& 4,026
Al 6,038
307 2iz2to| A 50,321 32,726 17,595
= 40,257
& 4,026
Al 6,038
10 Ml S X EX 50,321 32,726 17,595
OXAAHNSES L& XA 50,321
= 40,257
=} 4,026
Al 6,038
=42k 3280 XE 242 693 252,693 A 10,000
= 242 693
307 QI2t0| & 242 693 252,693 A 10,000
= 242 693
10 Al S X2 X 242,693 252,693 A 10,000
OJI=Met=g X 38L& XJ 242,693
= 242,693
FAEHSXA 1,359,380 3,258,942 N 1,899,562
= 905,069
= 108,604
Al 345,707
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= 24,800
Al 37,200
307 glz2tol & 310,000 285,430 24,570
= 248,000
= 24,800
Al 37,200
10 A3l =X 2 X 310,000 285,430 24,570
O2s=XX&A 310,000
= 248,000
= 24,800
Al 37,200
HOHK BS 7,000 7,000 0
301 et a =z 4,000 4,000 0
12JIEBE43 4,000 4,000 0
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Al 73,736
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OXNZEAS I A EXFALS 762,698
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Al 11,660
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= 6,550
Al 6,550
10 AtSI =X 2 X 13,100 11,160 1,940
OSgAtdl 2elAteY 28X 13,100
= 6,550
Al 6,550
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OSSANEE FBHEH & H=x=dY
0,540 «2H +33] 44 & 1,453
O8sAlEE =8HEH € M=&Y
38,8803 x2H 33| x4 4 & 934
OUFSSA 40t L J|E(2Y) 22y
38,880& 43| x12& 1,867
201 L2l 3,000 4,000 A 1,000
02 3322l 3,000 4,000 A 1,000
O8SANEZES Rl2EES 3,000
307 21201 A 1,200 1,200 0
05 RIZt2IEt = 1,200 1,200 0
OUFY LA JlER 201HY|
100,000& »12& 1,200
401 Al Bl 28I 20,000 0 20,000
01 A& HI 19,784 0 19,784
OttssE =HZH MY
20,000,000& %98.92% 19,784
03 A& =2 THHI 216 0 216
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20,000,000& = 1.08% 216
402 2I2H X201 M 120,000 70,000 50,000
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Al 110,000
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03 Al 20 HI 504 0 504
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M3 =XAE K& 2,039,373 2,554,130 A514,757
= 87,400
& 85,416
< 1,287,056
Al 579,501
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o9l AR CEEEED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 SUZRRIBHS 52,735 57,600 A 4,865
OMEISIIAE SA22RF SAHl,JIEHEH]
118,770 x24H 128 34,206
OMIZSNHLTLR J2BX BU2LQH
SAHl,JIEHE I 118, 7703 x13H «12& 18,529
S|Y=XIXI&A 49,000 0 49,000
IR ES 47,000 0 47,000
201 ¢4l 8,000 0 8,000
02 =224l 8,000 0 8,000
O =X FRFIE NEFFX 8,000
307 21201 A 12,000 0 12,000
10 A3l S X2 = 12,000 0 12,000
O RAJNPES(MZEA L XNSHIS) 12,000
405 XtaHE SHI 27,000 0 27,000
01 HatH ESFH S 27,000 0 27,000
O =X Z2E HEFFY 27,000
S|A=RXA 2,000 0 2,000
202 O4dl 2,000 0 2,000
01 = LH 4 Hi 2,000 0 2,000
OAtell 22l HE Y2 2,000
SXNHALT SEAMEIA HS Olgt Ot 13,450 12,850 600
SEXNHAT SEXZA 13,450 12,850 600
SN S A 13,450 12,850 600
201 ¢4 9,650 8,450 1,200
01 At 2t 2l 2,400 1,200 1,200
OFoI=X NFags 3 227
200,000& = 12& 2,400
02 =224l 7,250 7,250 0
O Xl 7,250
=&l 400,000& =123 4,800
5Sh=:Na] 450
Sy (AL WES) 2,000
202 O4dl 3,800 3,800 0
01 = LH 4 Hi 3,800 3,800 0
OSEXZA gR2F2 3,800
ZoHe =X 58 8,721,178 7,422,454 1,298,724
= 3,603,429
& 829,350
< 1,924,334
Al 2,364,065
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Zojel Mame =29 EX & 5,342,043 4,769,199 572,844
= 3,467,265
& 12,540
< 638,097
Al 1,224,141
= 787,743 782,590 5,153
= 551,420
< 94,529
Al 141,794
307 glz2tol & 787,743 782,590 5,153
= 551,420
< 94,529
Al 141,794
10 A3l =X 2 X 787,743 782,590 5,153
OZM=< X2 787,743
= 551,420
< 94,529
Al 141,794
Zopel o=l 180,888 168,591 12,297
= 144,710
< 14,471
Al 21,707
307 21201 A 180,888 168,591 12,297
= 144,710
< 14,471
Al 21,707
10 AFRISXIE X 180,888 168,591 12,297
O&Oel 2l=Hl XA 180,888
= 144,710
= 14,471
Al 21,707
O E 220|172 wE 3,870 5,091 A1,221
= 3,096
< 310
Al 464
307 gl2tol & 3,870 5,091 A1,221
= 3,096
< 310
Al 464
10 AtEI = X2 X 3,870 5,091 A1,221
OFofel HaEEXI|F W 3,870
= 3,096
< 310
Al 464
ZOHQIEHH XI& 55,000 100,000 A 45,000
307 21201 A 55,000 100,000 A 45,000




SH: FEXD
Ha: Zojel =X BT

S O MEEo £22 =X 5d (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2ItF & E X 30,000 30,000 0
OXZOel 2 ZE3 29 XA 30,000
04 QIZHHALE & 25,000 25,000 0
OFo & HAXA 20,000& »750H 15,000
OM333l & XIZOIo & AIZLE0He =X 43l
40,000& 100 4,000
OHMI14a8l ZOHQIEortE A FEOol =H 6,000
2E AL NE 7,650 7,450 200
301 et A= 7,650 7,450 200
10 #ALAHIE A Z 7,650 7,450 200
Od= soteliisl &4 243 40,0003 50 2,000
O&= XM X=X U3 A 243
150,000& 4 600
OHM15a8l &= XNHMEML HEUa HFHAEAS
150,000& »4H 600
OAlZtEoHel EXZE0 2 4 243
10,000& *30H »83l 2,400
O&= Zoe dz=ds &4 E43
50,000& 16X 800
O&d=s JlsZJlIla 4 2o
20,000& »25H 500
ogsd & M=EXH NS X MoIL
g4 BEaF 150,000& 5H 750
ool s8 AHd X& 3,830 4,692 A 862
= 1,915
< 766
Al 1,149
307 gl2tol & 3,830 4,692 A 862
= 1,915
< 766
Al 1,149
10 A2l S X2 X 3,830 4,692 A 862
oZoe ssaH 3,830
= 1,915
< 766
Al 1,149
ZoHel AtslE#=sX3A 50,780 12,250 38,530
201 LBt2d| 43,780 5,250 38,530
01 At 22l 43,780 5,250 38,530
OFe 8s2xXA =3 BoRARE F
AaG 0,000&+x9H *43 2,520
OZOMHIEH AIRA dXz &= N 40,000
PADSIPSEU ReIR="Re] 20,000
AZE ORI E 3 20,000
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Py 70,000 x6H *33| 1,260
202 o4 | 1,000 1,000 0
01 2Ll 1,000 1,000 0
O&ofel =Xt 2 HO 1,000
307 QI2t0| & 6,000 6,000 0
10 Al S X2 X 6,000 6,000 0
OXOMAXIH-QURAXAEE
2 X2 (100H) 6,000
Z0Hel X LXel XA 124,542 73,350 51,192
= 62,271
= 24,908
Al 37,363
307 QI2t0| ™ 124,542 73,350 51,192
= 62,271
& 24,908
Al 37,363
10 Al S X2 X 124,542 73,350 51,192
OXFOMC EXLXel XA 124,542
= 62,271
& 24,908
Al 37,363
ZOHQl F=OIXIX ME =01 At 318,012 250,822 67,190
= 159,006
== 63,602
Al 95,404
307 2Iz2t0| & 318,012 250,822 67,190
= 159,006
= 63,602
Al 95,404
10 SIS X EX 318,012 250,822 67,190
OZOe HH =20 ALY 318,012
= 159,006
= 63,602
Al 95,404
ZHOHQ THEN L AFSI & ALY 130,328 130,328 0
& 39,108
Al 91,220
307 gizto| A 130,328 130,328 0
& 39,108
Al 91,220
10 Al SR EX 130,328 130, 328 0
OAZEOe EXu= 6,800
o 2,040
Al 4,760
OHOMIIE Hotd=H|l Xl 11,400
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21,196
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O ggdiie g2 g8 EXdlE N& 1,500
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O ZEieRe delag X3 5,760
4,032
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